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L(@,b) := {zd + yb € R®; z,y € R}
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B { r + 3y = 9 (1)
zda+yb=qd< < 2x + 2y = 10 )
—z + oy = -1 (i)
r + 3y = 9 (1) = (@)
& - 4y = -8 (13)" == (i) + (—2) x (7)
4y = 8 (#d2)" := (431) + 1 x (7)
z + 3y =9 (1)" = (i)
o y = 2 (id)" = (i)' x (=3)
494 = 8 (#32)" := (4i7)’
x = 3 (1)3 = (1) + (—3) x (#1)”
& y = 2 (11)3 == (41)"
0r + 0y = 0 (140)3 = (i19)" + 1 x (43)"”
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(I) 2r+=1r x (=2),3r+=1rx 1, (II)2rx (—i)7 (III) Ir+ =2r x (=3), 3r+ =2r x (—4)
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- x + 3y = -5 (7)
zd+yb=7<<{ 2z + 2y = -—11 (i)
- 4+ y = 18 (iid)
r + 3y = -5 (1) = (4)
& - 4y = -1 (1) = (1) + (—=2) x (1)
4y = 13 (i) = (iii) + 1 x (i)
r + 3y = =5 (1) = (i)
& y = 3 (i) == (ii)' x (—3)
49 = 13 (i )’

-

Y BDT, (ii); BT v,y € ROFELBVDOT 7 € L(@,b) TH 5 Z ehiengd. LLEOFEIE
KITHNZ WS &



CREINET. ZZTERAT Y S TTOHELA—DEBTHOWTVWES. ZOZehrbFRFICEIHREZLTL
FXRINZ e, ET.

139 =5\ (1) 13 9 -5\ (1) (139-=5\ (rrr) (103-%
2210 —-11) —(0-4-8-1)—=(012 1% —> o012 1
-11-1 18 04 8 13 8



